HONORS PHYSICS

QUARTER A
PHYSICS BOX #13
MR. MANOLOFF

TOPIC:  Motion in Two Dimensions
CHAPTER:  3
DIFFICULTY LEVEL: 3
QUESTION:  Suppose the ball in Fig. 3.2 (pg. 69) has an initial velocity of 2.00 m/s along the x-axis.  Starting at to = 0, the ball accelerates constantly at 1.45 m/s/s in the y-direction.  
(a)  What is the position of the ball at t = 4.0s?

(b) What is the velocity of the ball at that time?

(c) What is the angle of its velocity relative to the + x-axis?
Name: ___________________________________________________ (print)

Name: ___________________________________________________ (signature)

Date: __________________________________

